offerE%3

[l 2]
EIEE

LA B B T4 — = AR R e e — A P XA R . EORAREBIATATHIN ST A, R BB B R S er 10 da 1 .

DI T P p IR SRR, U A S R P R ) R

10

/A AR

4 8 12 16

et s

4<=>6<=>8<=>10<=>12 <=>14<=>16

TETE R AR T R Ty ORIk — A, R B A R AR R I -

1 #include <stack>

2 using namespace std;

4 struct TreeNode {

5 int val;

6 TreeNode *left, *right;

9 TreeNode* Convert(TreeNode* root){

10 if (root == NULL)

1 return root;

13 TreeNode* listHead = NULL;

14 TreeNode* listLastNode = NULL;
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16 stack<TreeNode*> s;

17 while(root){

18 while(root){

19 root=root->left;

20 s.push(root);

21 }

22 root=s.top();

23 s.pop();

24 if (listHead == NULL){
25 listHead = root;

26 Yelsef

27 listLastNode->right = root;
28 }

29 listLastNode = root;
30 root= root->right;

31 }

32 return listHead;

33}
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private List<String> mData = new ArrayList<>();

private static class ViewHolder {
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TextView text;

public ViewHolder(View rootView) {

text = (TextView)rootView.findViewByld(R.id.text);

public void bind(String item) {

@Override

public View getView(int position, View convertView, ViewGroup parent) {

String item = mData.get(position);

ViewHolder viewHolder;

if (null == convertView) {

convertView = Layoutlnflater.from(mContext).inflate(R.layout.list_item, parent, false);

viewHolder = new ViewHolder(convertView);

convertView.setTag(viewHolder);

}else {

viewHolder = (ViewHolder) convertView.getTag();

viewHolder.bind(item);

return convertView;
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